— i - g © ~ o S = a it s ct 9
HISTORY
VER |REV DESCRIPTION DATE APPROVAL
A - | ORIGINAL - -
Type Label
hgat CM@U lf
all)]
a] Production label
Q & below Type Label
8 g o
° Z I
/\)% o 3
& o ° L
® 7 B °
@ @ 5 Label placement
@ Scale: 12
° &)
]
® o =
e 6 Zone 1
S G e
< = == o =7 ZN W ) e |
J ﬁ 7 /II [ — — \‘
g o III \\\
= = yahsat ulwoll
:-:- S = ‘ Zone 3
Surface classification
.,
Scale: 1.2 Zone &
13 199-185096 LAYOUT Type Label -
> 12 [ 48-207252-000 Self adhesive label 55x40mm / black polyester void -
11 [45-207111-000 Goretex membrane PolyVent/ M12x1.5 HA -
—= 10 |51-204752-616 Screw M6x16 Pan Head TX A4 -
9 51-200167-006 Washer Flat M6 / BN671 A4 -
@ 8 53-204676-006 Spring lock washer curved M6 A4 -
7 62-180678 Bottom Cover Assembly T333M -
@ 6 |62-180670 Antenna Ground Assembly Yahsat T333/T260 -
5 53-207108-004 Washer, M4, A4, DIN 125A, @9x@4.3x0.8 -
Isometric view 4 | 53-204676-004 Spring lock washer curved M4 A4 -
Scale: 11 3 |51-203660-416 Screw M4x16 Pan Head TX A4 -
2 |41-167091 Radome Gasket for Explorer 323 -
1 62-186817 Yahsat T333M Radome Assembly Desert Sand -
POS |ITEM NO NAME -
SURFACE TREATMENT: ARE N MILIMETRE AND TOLERANCES ARE IN C DBHHm
ACCORDANCE WITH
Thrane & Thrane trading as Cobham SATCOM - Denmark
TITLE
DR. Christina Venborg 2024.05.21 Assembly Drawing 408033A-YGS
MATERIAL: CH. Per Christiansen 2024.05.21 T333M
Item no version and AP. Christina Venborg 2024.05.21
pcs are controlled by FIRST SIZE ASSET NO. DRAWING NO.
BOM ANGLE . <|. _é} . Al 97-186493
PROJECTION SCALE 11 | |SHEET 1 OF 1
COBHAM PRIVATE THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO COBHAM SATCOM AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
- i v 0 o ~ o = = o 0 ks 0 0




